




 

 

w
w

w
.e

n
g

lis
h

ex
am

ce
n

te
r.

co
m

 

1

www.englishexamcenter.com

 

 

 

 

1. - 16. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük ya da ifadeyi 
bulunuz. 

1. Top priority for preventing theft should be 
measures to prevent or ---- a burglar from 
entering your home, such as lighting and 
locks. 

A) punish    B) influence 

C) dissuade    D) confuse 

E) oppose 

 

 

 

 

 

2. Many social and religious conservatives, both 
individuals and groups, sincerely believe that 
abortions adversely affect a woman’s ---- 
mental and physical health. 

A) subsequent   B) equal 

C) reluctant    D) supplementary 

E) substantial 

 

 

 

 

 

3. During and ---- after the Second World War 
almost every country on the European 
continent experienced the destruction and 
reform of their currencies. 

A) apparently    B) immediately 

C) reluctantly    D) completely 

E) immensely 

 

 

 

4. Edward Snowden, an American 
whistleblower, applied for temporary ---- in 
Russia on July 16, and if granted, he would be 
able to live in Russia, and even travel abroad, 
for at least a year. 

A) indication     B) provision 

C) asylum     D) indifference 

E) extradition 

 

 

5. A Mexican judge ---- sentences of 75 to 100 
years in prison to seven defendants convicted 
of participating in an August 2011 arson 
attack on a casino that killed 52 people. 

A) put aside     B) taken off 

C) figured out    D) counted on 

E) handed down 

 

 

 

 

6. Of the people who ---- the Reformation, the 
religious revolution that grew out of 
objections to the doctrines of the medieval 
church, the best known is Martin Luther. 

A) closed down    B) took after 

C) pulled over    D) brought about 

E) sorted out 

 

 

 

7. A financial bubble ---- when prices for assets, 
such as stocks, ---- far above their actual 
value. 

A) will have occurred / are rising 

B) occurs / rise 

C) should have occurred / would rise 

D) has occurred / will rise 

E) had occurred / rose 

YDS DENEME SINAVI 
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8. The revelation that the National Security 
Agency ---- into Americans’ phone and email 
records thousands of times a year ---- the 
outcome of last month’s vote. 

A) hacked / would have changed 

B) has hacked / changes 

C) could hack / should change 

D) had hacked / was changed 

E) hacks / would be changed 

 

 

 

9. The researchers ---- that within just one tenth 
of a second, certain bats ---- the shape of their 
outer ear from one extreme configuration to 
another in order to change their hearing. 

A) discovered / may have changed 

B) had to discover / would change 

C) discover / may have changed     

D) might discover / could change 

E) have discovered / are able to change 

 

 

 

10. Alexander was acknowledged as a military 
genius who always led by example, although 
his belief ---- his own indestructibility meant 
he was often reckless with his own life and 
those ---- his soldiers. 

A) over / about    B) on / from 

C) for / without    D) in / of 

E) from / by 

 

 

 

11. One of the early signs of diabetes is that the 
patient becomes plagued ---- boils ---- no 
apparent reason. 

A) around / towards   B) for / from 

C) from / about     D) after / by 

E) with / for 

 

12. The information from the US government, ---- 
correct, suggests the plane came closer to 
potential catastrophe, making the incident 
much more serious than so far revealed. 

A) if     B) that is 

C) therefore   D) in order to 

E) much as 

 

 

13. Michel de Nostredame or Nostradamus as we 
know him better, born in the year 1503 in 
France, is someone everyone all over the 
world is familiar with, ---- the many 
predictions he has made. 

A) apart from    B) also 

C) thanks to      D) despite 

E) notwithstanding 

 

 

14. A bank run can be the most lethal thing to 
happen to any financial organization, ---- it is 
private or government. 

A) because     B) either 

C) so that     D) which 

E) whether 

 

 

15. A move to increase exports of natural gas 
could pay off for the economy. It could, ----, 
lead to more pollution and higher carbon 
emissions. 

A) however    B) therefore 

C) furthermore   D) as well as 

E) unless 

 

 

16. According to the IMF, Mexico was the bottom 
performer in Latin America in per capita 
growth in the 1980s, ---- Peru saw Asia-like 
growth and Brazil lifted some twenty-five 
million from poverty. 

A) even     B) so  

C) as far as    D) whereas 

E) since 
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17. - 21. sorularda, aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük 
ya da ifadeyi bulunuz. 

ADHD or Attention Deficit Hyperactivity Disorder, 
is one of many childhood conditions that (17)---- 
to follow (18)---- suffering from it through their 
adolescent years right up till they turn into adults. 
People with this condition have a/an (19)---- to 
focus or pay attention to one thing for too long. 
They're hyperactive (20)---- nature and have 
trouble controlling their behaviour. In addition, 
they tend to slip away from (21)---- children 
during their childhood days, often escaping the 
attention of elders from noticing that these kids 
suffer from ADHD. 

 

17.  

A) object     B) appeal 

C) belong     D) tend 

E) refer 

 

18.  

A) these      B) those 

C) this      D) that 

E) which 

 

19.  

A) potential     B) recovery 

C) inability     D) emergence 

E) distinction 

 

20.  

A) into      B) by 

C) over      D) at 

E) for 

 

21.  

A) other      B) such 

C) also      D) them 

E) few 

 

22. - 26. sorularda, aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük 
ya da ifadeyi bulunuz. 

Brendon Grimshaw isn't an international celebrity 
(22)---- Sir Richard Branson, who is the owner of 
the Virgin brand, but he is living the life (23)---- 
many of us have said we would if we had the 
chance. Grimshaw purchased Moyenne Island, a 
small island (24)---- the coast of Mahe, 
Seychelles for $16,000 and later moved to the 
island in 1972. He has (25)---- turned the island 
into a nature preserve, planting 16,000 trees, 
brought in or bred 109 giant land tortoises and 
constructed nearly three miles of nature paths 
that guests (26)---- for $12. 

 

22.  

A) as well     B) like 

C) on behalf of    D) in comparison 

E) such 

 

23.  

A) just as     B) while 

C) but      D) that 

E) when 

 

24.  

A) along      B) above 

C) off      D) through 

E) on 

 

25.  

A) since      B) yet 

C) still      D) both 

E) each 

 

26.  

A) should walk    B) used to walk 

C) could have walked  D) have to walk 

E) can walk 
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27. - 36. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz. 

27. ---- because it was the birthday month of two 
of the most notable and highly valued people 
among the African-Americans, President 
Abraham Lincoln and Frederick Douglass. 

A) Implementing various ideas and themes for 
the younger generation are two of the 
priorities of the February Activists 

B) In the US and Canada, February was 
decided as the month to celebrate the 
African-American history 

C) It was only in the early 1970s that the name 
'Negro history week' changed to 'Black 
History Week' 

D) Every year, nationalist Americans come 
together from different states and hold a 
confidential meeting against blacks 

E) In February, schools encourage children to 
do projects which give them an opportunity to 
learn how African-American women 
contributed to culture 

 

 

 

 

 

 

28. ----, there were some societies in history 
where women were not considered lesser 
than men. 

A) Contrary to the belief that all women were 
treated as second class citizens in ancient 
times 

B) Because status of women was on par with 
the male counterparts in ancient Indian 
civilization 

C) Though, even in Ancient Egypt, women 
seemed to have enjoyed the same legal and 
economical rights which men had 

D) As ancient Egypt was hardly an egalitarian 
society where equal rights are accorded to all 

E) While women were allowed to inherit or own 
property, sign contracts, marry and divorce 

29. Although many of Stalin's policies in the 
USSR did not yield desired results, ----. 

A) its intention was to develop a given state into 
a strong socialist republic with the help of 
"professional" revolutionaries 

B) he developed his own set of principles and 
morals, and according to some, deviated 
completely from those of Marx and Lenin 

C) Stalin started off with his career, being 
influenced by the political principles of his 
immediate predecessor, Vladimir Lenin 

D) this political ideology developed by Stalin is 
known as "Stalinism", and has been subject 
to several sharp criticisms 

E) they definitely affected the politics of the 
Soviet Union as well as of the world in some 
way or the other 

 

30. Though there is no geological separation of 
the landmass between Europe and Asia, ----. 

A) the continent has got its name from a 
Phoenician Princess, named Europa, in 
Greek mythology 

B) the establishment of the Roman Empire was 
another of Europe's major influence 

C) political considerations have played a role in 
Europe always being regarded as a separate 
continent 

D) many cultural aspects of both continents 
have their roots in the rationalism of similar 
people 

E) the differences between them cannot be 
seen through the lives of people residing 

 

31. Japan's goal, ----, is to allow the Self-Defense 
Forces to expand its role abroad. 

A) why the Abe government regards the crises 
Japan faces as serious enough 

B) even though it is rarely directly articulated 

C) while constitutional revision remains a long 
shot 

D) how threatened Japan now feels by 
developments in the region 

E) which has a significant, if decaying, navy and 
air force, with one hundred and ninety 
vessels 
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32. ----, but these figures will likely drop as a 
result of declining production and lower 
international prices. 

A) Over the past decade, the biggest question 
surrounding the Venezuelan economy has 
been how long oil revenues can continue to 
paper over its fundamental distortions 

B) No wonder the money earned from museums 
has dropped from $60 million to $40 million 

C) The difficulty of obtaining dollars from the 
government means many businesses have to 
depend on the black market 

D) Large banks like JPMorgan Chase and 
Barclays have warned investors against the 
declining figures 

E) Today, Venezuelan oil revenues vary 
between $46 billion and $56 billion annually 

 

 

 

 

 

33. ----, whereas the majority opinion is that it 
should be. 

A) It is intriguing to read that experiments 
suggest dark matter may not be present in 
our part of the galaxy 

B) Numerous alternatives have been proposed 
to explain these observations without the 
need for a large amount of undetected matter 

C) It seems more like proponents of the 
standard model of particle physics have 
chosen to give a big problem a trendy name 

D) The existence and properties of dark matter 
are inferred from its gravitational effects on 
visible matter, radiation, and the large-scale 
structure of the universe 

E) Mention of dark matter is made in some 
video games and other works of fiction 

 

 

 

 

34. Taiwan is the world’s largest producer of 
laptop and desktop computers ----. 

A) because there has been no new industry in 
Taiwan in thirty years 

B) for this initiative may prove to be the greatest 
challenge in Taiwan’s six-decade history 

C) if many nations are afraid that signing an 
agreement with Taiwan will offend China 

D) but as that industry has plummeted 
worldwide, overtaken by tablets and 
smartphones, so has Taiwan’s economy 

E) which needs to revitalize its economy by 
moving from manufacturing efficiency to 
innovation and added value 

 

35. Having learned in Iraq that occupying Arab 
lands is bad for everyone’s health, ----. 

A) Qaddafi had no friends to come to his rescue 
and stood no chance with his feeble and 
outdated hardware 

B) a terrorist group tied to al-Qaeda attacked 
the US consulate in Benghazi 

C) the US helped free Libya of Qaddafi without 
suffering even one single casualty, by doing 
it all from the skies 

D) unlike in Egypt and even Tunisia, nobody in 
Libya protested against the United States 

E) American officials falsely claimed the 
Benghazi incident was the result of yet 
another protest riot gone out of control 

 

36. David Ostry, ----, says that deaf people may 
learn to laugh by watching how hearing 
people do it. 

A) who investigate how vocalisations develop in 
the absence of auditory feedback 

B) though it may be possible to better interpret 
distress calls from deaf infants 

C) why even screams of terror are much less 
obvious from those who are deaf 

D) who studies vocalisation in deaf people at 
McGill University in Montreal, Canada 

E) whereas other emotional outbursts need to 
be learned from other people 
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37. - 42. sorularda, verilen İngilizce 
cümlenin Türkçesini, Türkçe cümlenin 
İngilizcesini bulunuz. 

37. As of January 2008, the Mariner 10 and 
Messenger missions have been the only 
missions that have made close observations 
of Mercury. 

A) Ocak 2008’de gerçekleştirilen Mariner 10 ve 
Messenger seferleri Merkür’ü yakından 
gözlemlemek için yapılan seferlerdir. 

B) Mariner 10 ve Messenger seferleri Ocak 
2008’den beri Merkür gezegenini yakından 
gözlemlemek için tasarlanmaktadır. 

C) Ocak 2008 itibariyle, Mariner 10 ve 
Messenger seferleri Merkür’ü yakından 
gözlemleyen tek seferlerdir. 

D) Mariner 10 ve Messenger seferleri Ocak 
2008’den sonra Merkür’ü yakından 
gözlemleyen tek seferlerdir. 

E) Ocak 2008 itibariyle, Merkür’ü yakından 
gözlemlemek için yapılan en ciddi seferler 
Mariner 10 ve Messenger seferleridir. 

 

 

 

 

38. Basically, “the 2012 end of the world 
confusion” was one of the numerous hoax 
calls which we have been subjected to for 
hundreds of years now. 

A) “2012 dünyanın sonu karmaşası” aslında 
yüzyıllardır karşılaştığımız çok sayıdaki 
saçmalıklardan biridir. 

B) Aslında, “2012 dünyanın sonu karmaşası” 
yüzyıllardır maruz kaldığımız çok sayıdaki 
felaket tellallığından biriydi. 

C) Yüzyıllardır çok fazla sayıda sahte çağrılara 
maruz kaldık ve “2012 dünyanın sonu 
karmaşası” bunlardan sadece biridir. 

D) Yüzyıllardır maruz kaldığımız sayısız sahte 
çağrılardan biri olan “2012 dünyanın sonu 
karmaşası” temel itibariyle doğrudur. 

E) Esasında, “2012 dünyanın sonu kargaşası” 
yüzyıllardır maruz kaldığımız en etkili 
saçmalıklardan biriydi. 

39. Even though Christians form a minority 
community in India, this does not dampen the 
Christmas and New Year celebrations across 
the country. 

A) Hindistan’daki azınlıklardan biri olan Hristiyan 
toplumu Noel ve Yeni Yıl kutlamalarını 
ülkenin her yerinde kutlayabilmektedirler. 

B) Hristiyanlar Hindistan'da bir azınlık toplumu 
oluştursalar da, bu durum ülkenin her 
yerindeki Noel ve Yeni Yıl kutlamalarının 
tadını kaçırmaz. 

C) Hindistan’ın en küçük topluluğunu 
oluşturmalarına karşın Hristiyanlar Noel ve 
Yeni Yıl için tadını çıkaracakları kutlamalar 
tertiplerler. 

D) Hristiyanlar Hindistan’da bir azınlık topluluğu 
oluştururlar, ancak bu onların Noel ve Yeni 
Yıl öncesinde coşkulu kutlama yapmalarına 
engel değildir. 

E) Hindistan geniş bir Hristiyan topluluğuna ev 
sahipliği yapmaktadır ama onların Noel ve 
Yeni Yılı kutlamaları bu ülkede 
kısıtlanmaktadır. 

 

 

 

 

40. Naproksen alımının plasebo ile 
kıyaslandığında kardiyovasküler ve 
serebrovasküler aktiviteleri artırdığı saptandı. 

A) Placebo, compared with naproxen intake, 
made a smaller effect on cardiovascular and 
cerebrovascular events. 

B) If compared with placebo, intake of naproxen 
increases cardiovascular and 
cerebrovascular events dramatically. 

C) Intake of naproxen, not placebo, was the only 
cause of increase in cardiovascular and 
cerebrovascular events. 

D) Intake of naproxen was found to increase 
cardiovascular and cerebrovascular events, 
when compared with placebo. 

E) The sharp increase of cardiovascular and 
cerebrovascular events was found to be 
caused by naproxen intake. 
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41. Jeolojik olaylara zaman içinde bir noktada 
kesin bir tarih verilebilir ya da onlar 
kendilerinden önce ve sonra gelmiş olan diğer 
olaylarla ilişkilendirilebilir. 

A) Geological events can be given a precise 
date at a point in time or they can be related 
to other events that came before and after 
them. 

B) It is possible to date geological events 
precisely but we have difficulty in relating 
them to other events coming before and after 
them. 

C) Geological events can easily be dated in a 
precise manner or they can be differentiated 
from other events before and after them. 

D) We have the opportunity not only to give 
geological events a precise date at a point in 
time but also to relate them with other events 
that came before and after them. 

E) Geological events can be related to other 
events that follow them or we can give them 
a precise date in time. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

42. HIV’in AIDS nedeni olarak belirlenmesinden 
bu zamana geçen otuz yılda, virüs, tam da 
onu öldürecek hücrelerin içinde saklanarak, 
refleksif ve hızlı bir şekilde mutasyon 
geçirerek, ve bütün aşıları etkisiz kılarak 
yenilmezliğini kanıtlamıştır. 

A) It has been thirty years since scientists 
identified HIV as the main cause of AIDS and 
during that time the virus has seemed 
unbeatable since it shows an ability to hide in 
the very immune cells that are designed to 
kill it and to mutate very rapidly while at the 
same time subverting every vaccine. 

B) HIV was identified as the cause of AIDS thirty 
years ago, and since then nothing has been 
able to beat the virus as the virus cannot be 
killed by the immune cells and it mutates 
reflexively and rapidly. 

C) Hiding in the cells which are supposed to kill 
it, HIV identified as the cause of AIDS thirty 
years ago has proved unbeatable due to its 
ability to mutate rapidly and reflexively and to 
subvert all the vaccines. 

D) It has been proved that HIV is unbeatable as 
the main cause of AIDS not only because it 
hides in the very immune cells that would kill 
it but also because it mutates very reflexively 
and rapidly, as well as beating some of the 
most effective vaccines. 

E) In the thirty years since HIV was identified as 
the cause of AIDS, the virus has proved 
unbeatable by hiding in the very immune 
cells that would kill it; reflexively and rapidly 
mutating; and subverting every vaccine. 
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43. - 46. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Lobbyists are people whose job is to influence 
the way politicians vote on legislation. It’s totally 
legal, and it is a way of making sure that 
politicians get to hear the voices of the various 
groups they represent. Some lobbyists are 
volunteers; some are paid in seven figures. 
There’s nothing wrong with lobbying per se ― a 
lobbyist can sit down with a politician, and explain 
how an upcoming bill might affect a certain group, 
allowing the politician to make an informed 
decision before the vote. The problem comes 
when major industries have their own lobbyists, 
who use less-than-ethical tactics to influence a 
politician’s vote. Big Pharma, Big Oil, and Big 
Agra are three major players in this area, and the 
ones most commonly associated with unethical 
lobbying. While it’s illegal for lobbyists to give 
politicians gifts or money, lobbyists do use favors, 
campaign contributions, and even blackmail, to 
sway politicians to their side of the argument. 
Often, politicians end up voting against the 
wishes of their constituency because the 
lobbyists have their backs against the wall. 

 

 

 

 

 

 

 

 

43. As stated in the passage, immoral lobbying ----. 

A) contributed greatly to the decisions of the 
politicians in a negative manner in previous 
elections 

B) has been a major problem for big industries 
such as pharmacy, oil and agriculture 

C) is mostly made use of by the sectors of 
pharmacy, oil and agriculture to exert 
influence on politicians' decisions 

D) is considered to be legal when an association 
of three major fields ― pharmacy, oil and 
agriculture ― is needed 

E) is used especially by politicians to have a 
remarkable influence on such sectors as 
pharmacy, oil and agriculture 

44. According to the passage, politicians 
frequently vote against the will of their 
electoral district ----. 

A) although major industries try to affect them to 
vote for themselves 

B) as the lobbyists leave them no other choice 
but to do so 

C) whenever there is a disagreement between 
major industries of pharmacy and oil 

D) because lobbyists try to change the views of 
the voters 

E) and thus make a fortune by the help of 
lobbyists efforts 

 

 

 

45. According to the passage, through lobbying, 
a politician can be informed about possible 
effects of a law draft in the pipeline ----. 

A) as they pass through the parliament with the 
common consent of the politicians 

B) because various groups paid in seven figures 
give their full support to such a bill 

C) since it will be discussed in detail among 
politicians before it is accepted as a law 

D) but it may be declined by the top authorities 
who are in charge of paying the bill 

E) and this can enable the politician to make a 
right decision and vote accordingly 

 

 

 

46. According to the passage, all lobbyists ----. 

A) are parts of legal groups working voluntarily 
for the relief of politicians 

B) try to decrease the amount of opposition in 
the parliament and do so by placing premium 
on ethical considerations 

C) pick up pleasant words to charm politicians 
and change their minds 

D) are there to make a politician vote not at his 
own will but in the way they themselves want 

E) work arduously in return for a great amount 
of money to live on 
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47. - 50. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Without Google Earth, one could have easily 
questioned the very existence of North Korea on 
our planet. A nation that is as elusive as can ever 
be, North Korea and its people remain firmly and 
permanently shrouded in mystery; perhaps by 
force, perhaps by choice. What it has to its credit 
is the world's most fortified border, a few nukes 
and a complete hogwash under the name of 
human rights. The government keeps an eye on 
everything, and that means everything, because 
seriously, whatever else can they ask their 
special agents to do all day? The person running 
the cult-like and autocratic Juche-scripted 
theatrics is Kim Jong-un, the son of former 
Supreme Leader Kim Jong Il, and grandson to 
the country's Eternal President, Kim Il Sung. 
People who've had the opportunity to visit this 
country describe it as watching an elaborately 
sketched opera, only if it wasn't so bone-chilling. 

 

 

 

 

 

 

 

 

 

 

 

 

47. According to the passage, people visiting 
North Korea ----. 

A) are suddenly struck by what they describe as 
perfection without any pitfalls 

B) long for another opportunity to visit this 
country as soon as possible 

C) feel as if they were watching a painstakingly 
scripted opera, but with some minus sides 

D) are of the opinion that this country does not 
deserve to be so much apart from other 
countries 

E) enjoy elaborately sketched operas and great 
plays written on autocracy 

48. It can be inferred from the passage that North 
Korea ----. 

A) is rather isolated from the rest of the world 

B) seems elusive as much as any other country 
in the world but its people need more fortified 
borders 

C) has a good chance to follow what is going on 
in the other parts of the globe 

D) hides everything its government does from 
the public due to the presence of special 
agents in the country 

E) and its people have no other choice but live 
in harsh conditions 

 

 

 

49. It is clearly stated in the passage that the 
government of North Korea ----. 

A) hires special agents to track people who 
plans to attack on North Korea 

B) is totally respectful of other countries and 
their people's rights 

C) wants to be informed about all the things 
going on in the country 

D) makes people visiting country give great 
accounts of what they see in there 

E) does many illegal things under the name of 
human rights but isn't severely punished for 
its actions 

 

 

 

 

50. As stated in the passage, being constantly 
hidden in mystery ----. 

A) has adverse effects on not North Korean 
government but its people 

B) helps to create an alluring country image 

C) causes people to question the existence of 
North Korea and resort to Google Earth to 
have an idea about it 

D) is not unique to North Korea since some 
other countries in the Far East choose this 

E) provides North Korea with protected borders, 
a clear advantage 
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51. - 54. soruları aşağıdaki parçaya göre 
cevaplayınız. 

The biggest difference between communism and 
democracy lies in the economic aspect of the 
society. While in communism all production and 
distribution is under direct control of the 
government, in democracy each person has 
control over the production of goods and 
distribution as well. To make it clearer, in 
communism, all goods produced are for the 
government; therefore the government also has 
the rights to distribute them. However, in 
democracy, a person can choose to produce 
goods according to his wish and distribute or sell 
them according to his wish and prevailing market 
conditions. Due to this fact, in democracy one 
can see there is a wide and ever-increasing gap 
between the haves and the have-nots. However, 
in communism, no single person is able to go to 
the higher position and become rich, due to 
production and distribution policy. 

 

 

 

 

 

 

 

 

 

 

 

51. According to the passage, the government in 
a communist regime ----. 

A) is responsible for all production and 
distribution, therefore in the core of great 
controversies 

B) gives full support to people and enables them 
to choose what they want to produce and sell 

C) limits people's economic activities and takes 
on the responsibility for competing with other 
producers in the world market 

D) has direct control over every aspect of 
economic life in the country 

E) does not allow anyone to go to a higher class 
but people are trying hard to achieve it 

52. According to the passage, in democracy ----. 

A) it is possible to observe a huge difference 
existing in wealth distribution and this 
difference is gradually getting bigger 

B) one can feel the indirect control of the 
government in the economic activities 

C) the production and distribution of goods is 
under the control of both people and the 
government 

D) prevailing market conditions are of immense 
importance but people listen to their inner 
voice more 

E) the production and distribution policy does 
not let people go to a higher class 

 

 

 

53. It can be inferred from the passage that ----. 

A) producing and selling the goods at your own 
will is a clear characteristic of communism 

B) people, in communism, need to submit to the 
government the details of their productions 
before they can distribute or sell them 

C) one can easily recognize the difference in the 
economic aspects of a society 

D) people living under the rule of communism 
have no chance to become well-off 

E) the control of the government can be felt in 
all domains of life in a country ruled by 
communism 

 

 

 

54. As stated in the passage, prevailing market 
conditions ----. 

A) are set by the government for the common 
good in a democratic country 

B) contribute to the widening gap between the 
haves and the have-nots 

C) are one of the things to be taken into account 
when a person decides to produce or sell the 
goods he wants 

D) have a lot to do with the success of readily 
available products on the market 

E) allow today's manufacturers to produce 
goods according to their own wish 
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55. - 58. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Two main factors contribute to tooth decay: 
bacteria and a diet high in sugar and starch. 
There are over 500 different types of bacteria that 
are normally present in the mouth. These 
bacteria combine with food and saliva to form a 
sticky substance called plaque that attaches to 
teeth. Foods rich in starches add to the stickiness 
of the plaque, which begins to get hard if it 
remains on the teeth after a couple of days and 
turns into tartar or calculus. Bacteria in the plaque 
convert sugar into acid that dissolves the tooth 
structure causing holes, or cavities. Because of 
these two contributing factors, dental caries have 
been described as a “dietobacterial” disease. The 
parts of teeth that are most vulnerable to tooth 
decay are areas where plaque can accumulate 
most easily. Plaque tends to settle into the pits 
and fissures in the tops of teeth, into the areas in 
between the teeth, and next to the gum line. 

 

 

 

 

 

 

 

 

 

 

 

55. According to the passage, as the two factors 
that adversely affect the health of the teeth 
are bacteria and a diet rich in sugar and 
starch, ----. 

A) if one of them is handled properly, then the 
other will cease to have any effect 

B) one should be wary of what to eat after the 
treatment of tooth decay 

C) to keep them away from each other is the 
key factor so as not to have a tooth decay 

D) so long as they are barred from affecting 
each other, they will give no harm to teeth 

E) a specific term for dental caries has been 
produced by the combination of their names 

56. It is clear in the passage that ----. 

A) plaque is not always a sticky substance 

B) gum line is the most susceptible area in the 
mouth 

C) bacteria alone are not enough to form plaque 

D) the place where plaque settles first is the 
gum line 

E) there are no other factors apart from diet and 
bacteria resulting in tooth decay 

 

 

 

 

 

57. As is openly mentioned in the passage, ----. 

A) plaque forming bacteria combine with saliva 
and this leads to the desire to take in more 
sugar and starch 

B) plague is produced despite the protective 
effects of 500 plus different types of bacteria 

C) the stickiness of the plaque is enhanced with 
tartar or calculus 

D) more than half a thousand bacteria strains 
usually exist in the mouth 

E) dental caries can only be caused by the 
fissures in the tops of teeth 

 

 

 

 

 

58. It wouldn’t be wrong to say that ----. 

A) not one particular cause but a combination of 
factors ultimately leads to a tooth decay 

B) the writer presents some controversial 
information on tooth decay 

C) a number of recommendations are given to 
stop tooth decay 

D) where the plaque settles is not mentioned in 
the passage in detail 

E) not the sugar itself but the acid in the sugar 
causes holes and cavities 
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59. - 62. soruları aşağıdaki parçaya göre 
cevaplayınız. 

Both the European Union and the United States 
give subsidies to their farmers. This means that 
they give money to their farmers, which makes it 
possible for them to produce food at a cheaper 
price. It also means that they sometimes have too 
much food. When this happens, they often give 
this food to poorer countries in Africa and Asia. 
This is called "food aid". But there is a problem 
with this food aid. When cheap food from the EU 
and the US is sold in poor countries, the price of 
this food is much cheaper than the price of food 
grown by local farmers. The food aid doesn’t help 
the farmers at all because they cannot sell the 
food they produce at a fair price. They have to 
sell their products at a lower price and this means 
that they remain very poor. In a speech in 
October 2001, the British Prime Minister, Tony 
Blair, said that this situation should change. He 
said that the food situation in Africa was terrible 
and that the whole world had to work hard to help 
Africa. 

 

 

 

 

 

 

 

 

 

 

59. It is clear in the passage that the European 
Union and the United States ----. 

A) are eager to support farmers but do this for 
political reasons 

B) do not help farmers to produce inexpensive 
food 

C) cannot agree on some issues about food aid 

D) are not willing to help the farmers in Africa at 
all 

E) share the view that the farmers are to be 
supported 

 

 

60. According to the passage, the farmers in both 
the United States and the European union ----. 

A) can manufacture food at more reasonable 
prices thanks to subsidies they get 

B) are discontent with the help they get from the 
United States 

C) are always in favor of producing as much 
food as possible 

D) do not want to sell their products to other 
countries 

E) give their full support to Tony Blair’s 
statements about food aid 

 

 

 

61. One can readily understand from the passage 
that ----. 

A) if the supply is more than the demand, it is 
always given away to African countries 

B) in the case of a food surplus in the States 
and European Union, it is generally given to 
poverty-stricken countries 

C) if farmers are in need of support, they can 
get it from their own countries even if they 
are in other Asian countries 

D) all farmers in Africa and Asia benefit from 
and are pleased with the food aid 

E) it is out of question that Tony Blair is in favor 
of the food aid issue 

 

 

 

62. It is obvious in the passage that according to 
Tony Blair, ----. 

A) European Union and the United States are in 
a competition about helping African countries 

B) the support of European Union and the 
United States is completely satisfactory and 
makes any other unnecessary 

C) his country cannot catch up with the United 
States in terms of supporting farmers 

D) besides European Union and the United 
States, the rest of the world should also aid 
Africa 

E) farmers should be content with what 
European Union provides 
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63. - 67. sorularda, karşılıklı konuşmanın 
boş bırakılan kısmını tamamlayabilecek 
ifadeyi bulunuz. 

63. Frank: 
– Excuse me! This is my first time in this city. 

Could you inform me about the 
transportation facilities in here? 

Paul: 
– Sure! You have some alternatives. There are 

shuttles, taxis, and buses that go all over 
the city. 

Frank: 
– ---- 

Paul: 

– If you care about not losing time and 
comfort, then you may prefer a taxi. But for 
somewhere distant, shuttles or buses may 
be a better and cheaper option. 

A) Would you tell me where I can catch a taxi to 
the Swiss Hotel? 

B) In fact, I prefer public transportation but I 
don't know where to buy tickets. 

C) We have a well-functioning subway system in 
our city, but the stations are a bit far from the 
city center. Is it the case in here? 

D) As far as I understand, a subway system is 
not available in this town, is it? 

E) Which one do you recommend to take for a 
fast and convenient transportation? 

 

64. Gary: 
– Have you heard of new regulations about 

medicines and pills that have come into 
effect? 

Mick: 
– ---- 

Gary: 
– Well, the government has declared that they 

will be sold at the supermarkets soon. 

Mick: 
– In this case, pharmacies will be adversely 

affected. 

A) Not really! I am totally immersed in my job 
these days. Could you tell me the details? 

B) No. And I don’t want to hear anything about 
them. 

C) It is all about pension rights, isn’t it? 

D) Yes! Actually, I know all about it in detail. The 
prices of medicines will rise and they will be 
sold at markets. 

E) Yes. The news is good for the pharmacies. 

65. Stephen: 
– Do you think there should be tougher 

punishments as a deterrent? 

Mary: 
– ---- 

Stephen: 
– Sure. For example, in order to prevent 

people from committing crime, should we 
bring back the death penalty for murder, 
give longer prison sentences for lesser 
offences and lock up juvenile offenders? 

Mary: 
– To be honest, these sound to me like 

Draconian measures. 

A) Is it a fair question to ask a previous 
criminal? 

B) I believe there’s a good explanation for 
longer sentence periods to deter serious 
crime. 

C) I don’t in fact get what you mean. But I can 
say that the examples of justice failure are 
getting higher. 

D) No system of justice can be perfect, but 
careful investigations and fair trials will 
contribute a lot. 

E) Could you please clarify it further? 

 

66. Jack: 
– ---- 

Emma: 
– No, I don't in the ones you see in the 

popular press. It is all about the money. 
They give you half a horoscope and a 
telephone number. For the interesting other 
half, they charge you 48 pence per minute! 

Jack: 
– They could still be true, though. Everybody 

has a way of earning a living! 

Emma: 
– Agreed, but a serious astrologer would 

want to know a person's exact date of birth, 
not just their star sign. 

A) Don’t you describe astrology as a science? 

B) Don’t you think we refer to a lot of trivial 
things as science? 

C) Do the exact positions of the Sun, Moon and 
other planets on your date of birth have any 
connection with the future course of your life? 

D) Do you believe in horoscopes? 

E) Do you believe that astronomers can 
establish links between certain phenomena 
in the space and our lives? 
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67. Jessica: 
– Have you seen the article on a new state law 

in the paper? 

Catreen: 
– I have the paper on my desk, but I didn’t 

have time to go through it. What is it about? 

Jessica: 
– ---- 

Catreen: 
– In fact, this should have been done earlier. 

Now, young adults will be shielded against 
serious medical emergencies. 

A) The law passed will never allow hospitals to 
write off the debts of the costs of medical care 
of the young adults as uncompensated care. 

B) It says here that the new law will allow young 
adults to remain on their parents' medical 
insurance through age 25. 

C) Without the new regulation, the costs would 
have been paid by hospitals and their 
counterparts. 

D) As everyone knows, private insurance will 
cover all medical care expenditures of the 
owner of it. 

E) There are families whose children cannot 
receive medical care due to financial burdens. 

 

 

68. - 71. sorularda, verilen cümleye 
anlamca en yakın olan cümleyi bulunuz. 

68. Birds, despite sharing common reptilian 
ancestors with pterosaurs, evolved quite 
separately and have been much more 
successful in their dominance of the air. 

A) In spite of having the same genetic codes, 
birds' evolution was totally distinct from that 
of pterosaurs, and birds dominate the air. 

B) Birds have succeeded in dominating the air 
since they evolved differently even if they 
share common ancestors with pterosaurs. 

C) Birds and pterosaurs are both descended from 
the same reptilian ancestors, but birds had a 
rather different change of direction in the 
evolution and have become far better at flying. 

D) Pterosaurs couldn't catch up with the 
evolution of birds although they come from 
the same reptilian family, and thus air is 
under birds' domination today. 

E) Birds are much more successful predators 
when compared to their reptilian ancestors 
and have evolved to dominate the air. 

69. If the physical barriers of the plant are 
breached, then preformed chemicals may 
inhibit or kill the intruder. 

A) After chemicals are released to restrain or kill 
the invader, the plant is likely to fortify its 
physical barriers. 

B) As long as the physical barriers are strong 
enough to withstand the intruder, it may be 
necessary for the plant to use its preformed 
chemicals to keep off or kill it. 

C) The chemicals produced beforehand may be 
the only means of inhibiting or destroying the 
invader if the plant's physical barriers cannot 
prevent it. 

D) In order to kill the intruder, the plant first 
makes use of its physical barriers, but if they 
fail, then it is the task of its preformed 
chemicals to do so. 

E) The plant could stop or destroy the invader 
by using chemicals produced in advance in 
the event of its physical barriers being broken 
down. 

 

 

 

 

 

70. One of the reasons why Philadelphia's 
merchants generally prospered was that the 
surrounding area was undergoing 
tremendous economic and demographic 
growth. 

A) Philadelphia's merchants, in general, had a 
prosperous life, and therefore the region, 
where it lies, experienced a serious 
economic improvement and population 
growth. 

B) That merchants in Philadelphia mostly got 
rich in a relatively short time was due to the 
immense economic and demographic growth 
in the region. 

C) Because Philadelphia's merchants were 
primarily dependent on their neighbours, the 
economic and demographic advancement in 
the area was of tremendous value to them. 

D) There was a remarkable growth in economy 
and population in the neigbouring area of 
Philadelphia, which was one of the reasons 
Philadelphia's merchants had an overall 
financial success. 

E) The surrounding region was in need of 
urgent economic and demographic growth, 
but Philadelphia's merchants had already 
prospered. 
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71. Small mammals, being warm blooded, suffer 
hardship in the exposed and turbulent 
environment of the uppermost trees. 

A) The highest trees are found in the 
unprotected and turbulent environments, so 
small animals living on them experience 
problems because they are warm blooded. 

B) Since they are warm blooded, small 
mammals are vulnerable to the difficulties of 
being in the unprotected and rough 
atmosphere of the trees in the heights. 

C) Being warm blooded is the cause of the 
trouble that small animals have as they 
prefer the highest trees though the 
environment there is too harsh for them. 

D) The severe conditions of uppermost trees are 
not suitable for small mammals even if they 
are warm blooded. 

E) Because small mammals are generally warm 
blooded, they suffer problems as a result of 
being in a rough environment without any 
shield. 

 

 

 

 

72. - 75. sorularda, boş bırakılan yere, 
parçada anlam bütünlüğünü sağlamak için 
getirilebilecek cümleyi bulunuz. 

72. ---- It is responsible for depositing most of the 
fresh water on the planet. Approximately 
505,000 km3 of water falls as precipitation 
each year. 398,000 km3 of it falls over the 
oceans. Given the Earth's surface area, that 
means the globally-averaged annual 
precipitation is 990 millimeters. 

A) Mechanisms of producing precipitation 
include convective, stratiform, and orographic 
rainfall. 

B) Mixtures of different types of precipitation, 
including types in different categories, can 
fall simultaneously. 

C) Precipitation is a major component of the 
water cycle. 

D) Liquid forms of precipitation include rain and 
drizzle. 

E) The term meteor describes an object from 
outer space which has entered the Earth's 
atmosphere and produces a light 
phenomenon. 

73. Most Americans don't know how much they 
pay at the pump in taxes. It's not very 
obvious, since the price per gallon already 
includes federal, state, and in a few cases 
local gas taxes. ---- That's nothing, 
considering most of us pay $4 per gallon, and 
in most places it hasn't changed since gas 
cost half that much. 

A) Costs are another major concern for the 
drivers who travel throughout the country. 

B) In petrol exporting countries the price of 
petrol is now about half the price of what we 
pay for. 

C) Nobody wants to return to the days when 
American cars averaged fewer than 10 miles 
per gallon. 

D) The thing is that as cars become far more 
efficient, you can drive many more miles on 
one gallon. 

E) Depending on where you live, you pay 
anywhere from about 26 cents to 50 cents. 

 

 

 

74. The American effort to build the Panama 
Canal began in 1904. The first ship sailed 
through the canal in 1914, ten years and $326 
million later. It was a considerable increase 
over the $144 million originally planned. ---- 
Landslides shut it down for most of 1915 and 
1916, and then again briefly in 1917 and 1920. 
Strikes hit the canal in 1916 and 1917. World 
War I practically closed it to commercial 
traffic, and work continued on clearing 
dangerous hills, fixing locks, and finishing all 
the ancillary construction required by the 
canal. The Panama Canal finally opened to 
civilian traffic on July 12, 1920, after an 
additional six years and $53 million. 

A) By the time all was said and done, the 
construction of the Panama Canal cost 2.0 
times its initial estimate. 

B) Thatcher's plan to create civil government in 
the Canal Zone would have had dramatic 
consequences for the future. 

C) In fact, the canal would not be fully open to 
commercial traffic for another six years. 

D) The Panama Railroad proved to be in such 
bad condition that the Americans needed to 
rebuild it twice. 

E) It was time to junk the multiple-member 
commission and put one person in charge. 
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75. Until the first flyby of Mars by Mariner 4 in 
1965, many speculated that there might be 
liquid water on the planet's surface. ---- They 
looked like seas and continents, while long, 
dark striations were interpreted by some 
observers as irrigation channels for liquid 
water. These straight line features were later 
proven not to exist and were instead 
explained as optical illusions. 

A) Still, of all the planets in the Solar System 
other than Earth, Mars is the most likely to 
harbor liquid water. 

B) Radar data from Mars Express and the Mars 
Reconnaissance Orbiter have revealed the 
presence of large quantities of water ice on 
Mars. 

C) Mars is currently host to three functional 
orbiting spacecraft: Mars Odyssey, Mars 
Express, and the Mars Reconnaissance 
Orbiter. 

D) Mars can be seen from Earth with the 
unaided eye. 

E) This was based on the observations of 
periodic variations in light and dark patches, 
particularly in the polar latitudes. 

 

76. - 80. sorularda, cümleler sırasıyla 
okunduğunda parçanın anlam bütünlüğünü 
bozan cümleyi bulunuz. 

76. (I) When the sunlight strikes raindrops in the air, 
they act like a prism and form a rainbow. (II) A 
rainbow is the division of white light into many 
beautiful colors. (III) These take the shape of a 
large, round arch, with its path high above and its 
two ends apparently beyond the horizon. (IV) 
Rainbows caused by sunlight always appear in 
the section of sky directly opposite the sun. (V) 
When a man looks for something beyond his 
reach, his friends say he is looking for the pot of 
gold at the end of the rainbow. 

A) I B) II C) III D) IV E) V 

 

 

77. (I) To find out what role the proteins might play in 
the brain, Reiko Hanada a member of 
Penninger’s research group, injected RANKL into 
the brains of rats and mice. (II) These proteins 
also participate in the daily rise and fall of body 
temperature. (III) The rodents stopped moving 
around and were hot to the touch. (IV) Both were 
the indications of fever. (V) Then, inhibiting 
RANKL reduced the animals’ fevers. 

A) I B) II C) III D) IV E) V 

78. (I) Many people, including some scientists, would 
like to believe that consciousness sets the human 
mind apart from the rest of the animal kingdom. 
(II) But whether in humans or other creatures, 
behavioral signs of cognizance all arise from the 
tangled interactions of neurons in the brain. (III) 
So a growing number of scientists contend that 
animals with brain structures and neural circuitry 
similar to humans’ might experience something 
like human awareness. (IV) Still, everyone agrees 
that consciousness is one of science’s great 
unsolved mysteries. (V) It may be a bit less 
sophisticated compared to human awareness, 
but it exists. 

A) I B) II C) III D) IV E) V 

 

 

 

79. (I) As Philadelphia grew from a small town into a 
city in the first half of the eighteenth century, it 
became an increasingly important marketing 
center for a vast and growing agricultural 
hinterland. (II) Market days saw the crowded city 
even more crowded, as farmers from within a 
radius of 24 or more kilometers brought their 
sheep, cows, pigs, vegetables, cider, and other 
products for direct sale to the townspeople. (III) 
Along with market days, the institution of twice-
yearly fairs persisted in Philadelphia even after 
similar trading days had been discontinued in 
other colonial cities.(IV) The High Street Market 
was continuously enlarged throughout the period 
until 1736, when it reached from Front Street to 
Third. (V) By 1745 New Market was opened on 
Second Street between Pine and Cedar. 

A) I B) II C) III D) IV E) V 

 

 

 

 

80. (I) There are experiments with hundreds of pigs' 
legs (apparently a close substitute for human 
tissue) in a shed equipped with a heater and 
dehumidifier to recreate the hot, dry conditions of 
Egypt. (II) Just how the ancient Egyptians 
preserved bodies so well has always been a bit of 
a mystery. (III) They never wrote down how they 
did it, but the Greek historian Herodotus 
described the process in 450 BC. (IV) He said 
that the key ingredient was natron - a form of 
natural salt found in Egypt. (V) Historians had 
assumed that this dry salt was used to draw 
water out of the corpse. 

A) I B) II C) III D) IV E) V 






